4&’&;7./ 7, L
/
W Staoier

[ §)° =

E——
e
e

22) 1o & | .
/ (9 =l %0” /XL))- Ly :%W

J:sz - (3)(7E) = 71X
7 um
“%M&MW [/4¢M 2325
= = — = — &//,wéw
25“) N=ESem 027 u0f M
=28 = (ks ) () T om LAZ%M
S

(ZL /

———

25) EI/LW 3n /150" ) 30507 3 (707
) 2 Ty IS

25) S?"W ’S’Z’((fo) "5(/2’0’)_-5(%),_225

77 _
%()) W 77(/f0) ,7([570’) '7//&) %’2&

——

i .
12) Lpadiert PE) 80 30) - 320



' S ) _lor - S7 .
3;4)/00 ) /00 /XO) v '#W%

S R b Y/ A/ B K M B Y f
36) [20° - 120 ((W__ ’7*;@

R

88) -3/5° '3/5‘( <35y —532/ *Z/?/ ”777 ﬁ

/50

—

S
—_—

7%%% %ﬂ'§%}wa%éa% /w%éwé/é/)
%0) Rz 2in | O sadins

a=n8=(125)08)- Z-31,,

—

(ZQ)JL: /ﬂm/ & :%W
5 28~ (100 ) () LD ey 252,

= O R

————— —_—

1) (=S 8220~ () G5g)-1F el

L= 0= (se) )<=

44) - bem | 0= ¢5°= (#59)(-2) =L radezrs

A=vbnr" = Z(_?‘L)(g ) = 2 lxa ‘[%XB)?/’:ngfmz

2(¥) 2




(A&
45) dhirite, 104t~ 2= Spt - Fsuclinn

N-Lp e 4 - e
A bu2= L (B) (s~ 52 4

SO) a4l -%0%:36p0° =32 p°

c2) 7ot 700°-340° <340°

s¢)-¥ . I .Y L BT 17T
g . C/%QWV&/*?"L

95) BT BU _gg, .20 kY
6 s AT & s ¢



